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1. The court recognize and apply 

only those laws which are made 

by. 

(A)   Political Sovereign 

(B) Titular Sovereign 

(C) Legal Sovereign 

(D) Popular Sovereign 

 1. U;k;ky; dsoy mUgha dkuwukas dks ekU;rk 

nsrk gS vkSj ykxw djrk gS tks ------------------ 

}kjk cuk, x, gSaA 

(A) jktuhfrd laizHkq 

(B) ukeek= laizHkq 

(C) dkuwuh laizHkq 

(D) yksdfiz; laizHkq 
2. The Pluralists advocate the? 

(A)   Autonomy of states 

(B) Autonomy of Government 

(C) Autonomy of Associations 

(D) Autonomy of Central 

Government 

 2. cgqyoknh fdlh odkyr djrs gSa \ 

(A) jkT;ksa dh Lok;RRkrk 

(B) ljdkj dh Lok;RRkrk 

(C) la?kksa dh Lok;RRkrk 

(D) dsanz ljdkj dh Lok;RRkrk 

3. The Sovereign of Austin is. 

(A)   Absolute internally 

(B) Absolute externally 

(C) Neither externally nor 

internally 

(D) Absolute both externally and 

internally 

 3. vkWfLVu dk laizHkq ----------------------- gSA 

(A) vkarfjd :i ls iw.kZ laizHkq 

(B) ckº; :i ls iw.kZ laizHkq 

(C) u rks ckº; :i ls vkSj u gh 

vkarfjd :i ls laizHkq 

(D) ckº; vkSj vkarfjd nksukas rjg ls 

laizHkq 

4. Which of the following system of 

representation is most popular in 

the modern states? 

(A)   Functional Representation 

(B) Territorial Representation 

(C) Proportional Representation 

(D) Minority Representation 

 4. vk/kqfud jkT;ksa esa izfrfuf/kRo dh 

fuEufyf[kr esa ls dkSu lh iz.kkyh lcls 

yksdfiz; gS \ 

(A) dk;kZRed izfrfuf/kRo 

(B) {ks=h; izfrfuf/kRo 

(C) vkuqikfrd izfrfuf/kRo 

(D) vYila[;d izfrfuf/kRo 
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5. “I regard it as wholly inadvisable 

that any person should participate 

in the suffrage without being able 

to read and write.” Who said? 

(A)   J.S. Mill 

(B) Laski 

(C) Lenin 

(D) Garner 

 5. ÞeSa bls iwjh rjg ls vuqfpr ekurk gwa fd 

fdlh Hkh O;fDr dks i<+us vkSj fy[kus esa 

l{ke gq, fcuk erkf/kdkj esa Hkkx ysuk 

pkfg,Aß fdlus dgk \ 

(A) tsŒ ,lŒ fey 

(B) ykLdh 

(C) ysfuu 

(D) xkuZj 
6. The system of an adult franchise 

endorses the concept of? 

(A)   Legal Sovereignty 

(B) De-Jure Sovereignty 

(C) Popular Sovereignty 

(D) Titular Sovereignty 

 6. o;Ld erkf/kdkj dh iz.kkyh vo/kkj.kk ds 

vuq:i gS \ 

(A) dkuwuh laizHkqrk 

(B) Mh&tqj laizHkqrk 

(C) yksdfiz; laizHkqrk 

(D) ukeek= dh laizHkqrk 

7. A multi-member constituency is 

better than a single-member 

constituency because : 

(A)   It gives more choice to the 

voters in the selection of 

representatives  

(B) It allows poor people to 

contest the election 

(C) It encourages the growth of 

many political parties 

(D) It ensures stable ministries 

 7. cgq&lnL;h; fuokZpu {ks= ,dy&lnL;h; 

fuokZpu {ks= ls csgrj gS D;ksafd % 

(A) ;g izfrfuf/k;kas ds p;u esa ernkrkvksa 

dks vf/kd fodYi nsrk gS 

(B) ;g xjhc yksxksa dks pquko yM+us dh 

vuqefr nsrk gS 

(C) ;g dbZ jktuhfrd nyksa ds fodkl 

dks izksRlkfgr djrk gS 

(D) ;g fLFkj ea=ky;ksa dks lqfuf’pr 

djrk gS 
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8. One of the chief merits of single-

member constituencies in. 

(A)   People have a limited choice 

in selecting their 

representative 

(B) Local interest get preference 

over national interest 

(C) An intimate relationship 

between the electors and the 

representative 

(D) A minority may get 
overrepresentation 

 8. fuEu esa ls D;k ,dy lnL;h; fuokZpu {ks=ksa 

ds izeq[k xq.kkas esa ls ,d gSA 

(A) yksxksa ds ikl viuk izfrfuf/k pquus ds 

fy, lhfer fodYi gksrs gSa 

(B) LFkkuh; fgr dks jk”Vªh; fgr ij 

ojh;rk feyrh gS 

(C) ernkrkvksa vkSj izfrfuf/k ds chp 

?kfu”B lEca/k 

(D) vYila[;d dks vf/kd izfrfuf/kRo 

fey ldrk gS 

9. Women in England got the right to 

vote on equal terms with men in 

the year. 

(A)   1688 

(B) 1911 

(C) 1950 

(D) 1928 

 9. baXyS.M esa efgykvksa dks o”kZ ----------- esa iq:”kksa 

ds cjkcj oksV nsus dk vf/kdkj feykA 

(A)   1688 

(B) 1911 

(C) 1950 

(D) 1928 

10. Universal Adult Franchise means. 

(A)   Right to vote to all University 

graduates 

(B) Right to vote to all men 

(C) Right to vote to all adult 

citizen 

(D) Right to vote to taxpayers 

 10. Þ;wfuolZy O;Ld erkf/kdkjß dk vFkZ gSA 

(A) lHkh fo’ofo|ky; Lukrdksa dks oksV 

nsus dk vf/kdkj 

(B) lHkh iq:”kksa dks oksV nsus dk vf/kdkj  

(C) lHkh o;Ld ukxfjdkas dks oksV nsus dk 

vf/kdkj 

(D) djnkrkvksa dks oksV nsus dk vf/kdkj 
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11. Which of the following 

Constitutional Amendment 

reduced the voting age from 21 

years  to 18 years for the Lok 

Sabha and state legislative 

assembly elections? 

(A)   57th 

(B) 48th 

(C) 61th 

(D) 49th 

 11. fuEufyf[kr esa ls fdl laoS/kkfud la’kka/ku us 

yksdlHkk vkSj jkT; fo/kkulHkk pqukoksa ds 

fy, ernku dh vk;q 21 o”kZ ls ?kVkdj 18 

o”kZ dj fn;k \ 

(A) 57oka 

(B) 48oka 

(C) 61oka 

(D) 49oka 

12. In Indian Constitution, the idea of 

“A Union of States in the Indian 

Constitution” has been derived 

from? 

(A)   The Australian Constitution 

(B) Constitution of Colombia 

(C) Constitution of Bhutan 

(D) Constitution of Belgium 

 12. ÞHkkjrh; lafo/kku esa jkT;ksa dk ,d la?kß 

fopkj fdlls fy;k x;k gS \ 

(A) vkWLVªsfy;k dk lafo/kku 

(B) dksyafc;k dk lafo/kku 

(C) HkwVku dk lafo/kku 

(D) cSfYt;e dk lafo/kku 

13. A motion of no confidence against 

the government can be introduced 

by? 

(A)   Speaker 

(B) Cabinet 

(C) Lok Sabha 

(D) Judiciary 

 13. ljdkj ds f[kykQ vfo’okl izLrko fdlds 

}kjk is’k fd;k tk ldrk gS \ 

(A) Lihdj 

(B) dSfcusV 

(C) yksdlHkk 

(D) U;k;ikfydk 
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14. What is the maximum strength of 

the Rajya Sabha? 

(A)   245 

(B) 260 

(C) 250 

(D) 280 

 14. jkT;lHkk dh vf/kdre ‘kfDr fdruh gS \ 

(A)   245 

(B) 260 

(C) 250 

(D) 280 

15. The Indian constitution has taken 

the idea of preamble form the? 

(A)   The constitution of the U. K. 

(B) The constitution of the 

U.S.A. 

(C) The constitution of Canada 

(D) None of the above 

 15. Hkkjrh; lafo/kku esa izLokouk dk fopkj 

fdlls fy;k gS \ 

(A) ;wŒdsŒ dk lafo/kku 

(B) ;wŒ,lŒ,Œ lafo/kku 

(C) dukMk dk lafo/kku 

(D) mijksDr eas ls dksbZ ugha 

16. The Vohra committee was 

appointed to look into? 

(A)   Socio-economic nexus 

(B) Crime-politics nexus 

(C) Political- industrial nexus 

(D) Religious-Politics nexus 

 16. oksgjk lfefr dks fdl mís’; ds fy, 

fu;qDr fd;k x;k Fkk \ 

(A) lkekftd&vkfFkZd xBtksM+ 

(B) vijk/k&jktuhfr xBtksM+ 

(C) jktuhfrd&vkSn~;ksfxd xBtksM+ 

(D) /kkfeZd&jktuhfr xBtksM+ 

17. The power of judiciary to declare a 

law as invalid on the constitutional 

ground is. 

(A)   Judicial review 

(B) Judicial Activism 

(C) Judicial supremacy 

(D) None of the above 

 17. laoS/kkfud vk/kkj ij fdlh dkuwu dks vekU; 

?kksf”kr djus dh U;k;ikfydk dh ‘kfDr ---------

------------- gSA 

(A) U;kf;d iqujoyksdu 

(B) U;kf;d lfØ;rk 

(C) U;kf;d loksZPprk 

(D) mijksDRk esa ls dksbZ ugha 
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18. The theory of separation of powers 

is associated with? 

(A)   Montesquieu 

(B) Voltaire 

(C) Lord Acton 

(D) None of these 

 18. ‘kfDr;ksa ds ìFkDdj.k dk fl)kUr fdl ls 

lEcaf/kr gS \ 

(A) eksaVsLD;w 

(B) oksYVs;j 

(C) ykWMZ ,DVu 

(D) buesa ls dksbZ ugha 
19. Which is known as the backbone 

of democracy? 

(A)   Interest Groups 

(B) Pressure Groups 

(C) Political Parties 

(D) None of the above 

 19. yksdra= dh jh<+ ds :i esa fdls tkuk tkrk 

gS \ 

(A) fgr lewg 

(B) ncko lewg 

(C) jktuhfrd ny 

(D) mijksDr esa ls dksbZ ugha 

20. Which of these countries has 

introduced a direct democracy? 

(A)   The U.S.A. 

(B) U.K. 

(C) Switzerland 

(D) India 

 20. buesa ls fdl ns’k esa izR;{k yksdra= gS \ 

(A) ;wŒ,lŒ,Œ 

(B) ;wŒ dsŒ 

(C) fLoV~t+jyS.M 

(D) Hkkjr 

21. The federal government envisions. 

(A)   Strong Centre 

(B) Weak Centre  

(C) Neither weak nor Strong 

Centre  

(D) None of the above 

 21. la?kh; ljdkj dh ifjdYiuk -------------------- gSA 

(A) etcwr dsUnz 

(B) detksj dsUnz 

(C) u rks detksj vkSj u gh etcwr dssUnz 

(D) mijksDr esa ls dksbZ ugha 
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22. The government is federal or 

unitary based on relations 

between? 

(A)   Three organs of government 

(B) Legislature and Executive 

(C) Centre and State 

(D) None of the above 

 22. ljdkj la?kh; ;k ,dkRed bldk fu/kkZj.k 

fdl vk/kkj ij gksrk gS \ 

(A) ljdkj ds rhu vax 

(B) fo/kkf;dk vkSj dk;Zikfydk 

(C) dsUnz vkSj jkT; 

(D) mijksDr esa ls dksbZ ugha 
23. The phrase “Once a speaker is 

always a speaker” is associated 

with? 

(A)   The U.S.A. 

(B) U.K. 

(C) India 

(D) Switzerland 

 23. Þ,d ckj dk Lihdj ges’kk Lihdj gksrk gSß 

,d okD;ka’k fdlds fy, gS \ 

(A) ;wŒ,lŒ,Œ 

(B) ;wŒdsŒ 

(C) Hkkjr 

(D) fLoV~t+jyS.M 

24. In the U.K., the executive is 

responsible to the? 

(A)   Legislature 

(B) Prime minister 

(C) Judiciary 

(D) The queen 

 24. ;wŒdsŒ esa dk;Zikfydk fdlds izfr mRrjnk;h 

gS \ 

(A) fo/kkueaMy 

(B) iz/kku ea=h 

(C) U;k;ikfydk 

(D) jkuh 

25. American Presidential election 

takes place every? 

(A)   5 years 

(B) 6 years 

(C) 3 years 

(D) 4 years 

 25. vesfjdh jk”Vªifr pquko fdrus lkYk ckn 

gksrk gS \ 

(A) 5 lky 

(B) 6 lky 

(C) 3 lky 

(D) 4 lky 
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26. In which form of Government 

Bicameralism is an essential 

feature? 

(A)   Parliamentary 

(B) Federal 

(C) Unitary 

(D) None of the above 

 26. ljdkj ds fdl :i esa f}lnuokn ,d 

vfuok;Z fo’ks”krk gS \ 

(A) laLknh; 

(B) la?kh; 

(C) ,dkRed 

(D) mijksDr esa ls dksbZ ugha 

27. In a federation, there is _________ 

representation in the upper house 

of parliament. 

(A)   Unequal 

(B) Equal 

(C) Proportional 

(D) None of the above 

 27. ,d la?k esa] laLkn ds Åijh lnu eas -------------- 

izfrfuf/kRo gksrk gSA 

(A) vleku 

(B) leku 

(C) vkuqikfrd 

(D) mijksDr esa ls dksbZ ugha 

28. The Constitution of India does not 

use the term : 

(A)   Federal State 

(B) Union of States 

(C) Central Government 

(D) None of the above 

 28. Hkkjr dk lafo/kku -------------------- ‘kCn dk iz;ksx 

ugha djrk gSA 

(A) la?kh; jkT; 

(B) jkT;ksa dk la?k 

(C) dsUnz ljdkj 

(D) mijksDr esa ls dksbZ ugha 

29. The Constitution of India was 

enforced on _______. 

(A)   August 15, 1947 

(B) November 26, 1949 

(C) January 26, 1950 

(D) None of the above 

 29. Hkkjr dk lafo/kku ----------------------- dks ykxw 

fd;k x;k FkkA 

(A) 15 vxLr] 1947 

(B) 26 uoEcj] 1949 

(C) 26 tuojh] 1950 

(D) mijksDr esa ls dksbZ ugha 
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30. The Constitution of India was 

drafted by the. 

(A)   Advisory Committee 

(B) Secretariat of the Assembly 

(C) President of the Assembly 

(D) Drafting Committee 

 30. Hkkjr ds lafo/kku dk elkSnk ------------------- }kjk 

rS;kj fd;k x;k FkkA 

(A) lykgdkj lfefr 

(B) lfpoky; lHkk 

(C) lHkk ds v/;{k 

(D) elkSnk lfefr 

31. The Constitution of a country 

provides the basis for. 

(A)   Punishment of criminals 

(B) Governance of the country 

(C) Relationship between the 

citizens 

(D) Trade relations with other 

countries 

 31. fdlh ns’k dk lafo/kku ---------------------- ds fy, 

vk/kkj iznku djrk gSA 

(A) vijkf/k;ksa dh ltk 

(B) ns’k dk ‘kklu 

(C) ukxfjdksa ds chp lEca/k 

(D) vU; ns’kksa ds lkFk O;kikj lEca/k 

32. Which among these statements is 

not true? 

(A)   The state’s Powers are 

delegated, and derivative; the 

government’s powers are real 

and original 

(B) We see the government, not 

the state 

(C) The state is a near-permanent 

institution 

(D) The sovereign powers lay 

with the state 

 32. buesa ls dkSu lk dFku lR; ugha gS \ 

(A) jkT; dh ‘kfDr;k¡ izR;k;ksftr vkSj 

O;qRiUu gSa( ljdkj dh ‘kfDr;k¡ 

okLrfod vkSj ekSfyd gSa 

(B) ge ljdkj ns[krs gSa] jkT; ugha 

(C) jkT; ,d fudV&LFkk;h laLFkk gS 

(D) laizHkq ‘kfDr;k¡ jkT; ds ikl gksrh gSa 
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33. The character of associations other 

than the state can be. 

(A)   Local 

(B) Provincial 

(C) International 

(D) All the above 

 33. la?k dk pfj= jkT; ds vykok ------------------- gks 

ldrk gSA 

(A) LFkkuh; 

(B) izkarh; 

(C) varjkZ”Vªh; 

(D) mijksDr lHkh 

34. Which among these is true? 

1. Society may be said to have 

been born the day human life 

must have begun. 

2. Society is natural, whereas 

the state is an artificial 

institution. 

(A)   Only 1 

(B) Only 2 

(C) Both 

(D) None of these 

 34. bueas ls dkSu lk lR; gS \ 

1. lekt dk tUe ml fnu gqvk ftl 

fnu ekuo thou dh ‘kq:vkr gqbZ 

gksxhA 

2. lekt izkÑfrd gS] tcfd jkT; ,d 

Ñf=e laLFkk gSA 

(A) dsoy 1 

(B) dsoy 2 

(C) nksukas 

(D) buesa ls dksbZ ugha 

35. Plato fixed the population limit of 

a city-state to 5040, whereas 

Rousseau fixed it to _________. 

(A)   15000 

(B) 12000 

(C) 10000 

(D) 5000 

 35. IysVks us ,d ‘kgj&jkT; dh tula[;k lhek 

5040 fu/kkZfjr dh] tcfd :lks us bls ---------- 

ekuk gSA 

(A)   15000 

(B) 12000 

(C) 10000 

(D) 5000 
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36. State “is a people organized for 

law within a definite territory”. 

Whose words? 

(A)   Laski 

(B) Garner 

(C) Woodrow Wilson 

(D) Gilchrist 

 36. jkT; Þ,d fuf’pr {ks= ds Hkhrj dkuwu ds 

fy, laxfBr yksx gSaß fdlds ‘kCn gSa \ 

(A) ykLdh 

(B) xkuZj 

(C) oqMjks foYlu 

(D) fxyfØLV 

37. Which among these social groups 

is considered Bourgeois? 

(A)   Traders 

(B) Capitalists 

(C) Merchants 

(D) All the above 

 37. buesa ls fdl lkekftd lewg dks cqtqZvk 

ekuk tkrk gS \ 

(A) m|ksxifr 

(B) iwathifr 

(C) O;kikjh 

(D) mijksDr lHkh 

38. Which among these is not an 

element of state? 

(A)   Population 

(B) Government 

(C) Values 

(D) Sovereignty 

 38. buesa ls dkSu jkT; dk rRo ugha gS \ 

(A) tula[;k 

(B) ljdkj 

(C) ewY; 

(D) laizHkqrk 

39. The term ‘State’ was first used 

by__________. 

(A)   Plato 

(B) Machiavelli 

(C) Kautilya 

(D) Aristotle 

 39. ^jkT;^ ‘kCn dk iz;ksx loZizFke -------------------- 

}kjk fd;k x;k FkkA 

(A) IysVks 

(B) eSfd;kosyh 

(C) dkSfVY; 

(D) vjLrw 
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40. Which of these two statements are 

correct? 

1. Political Science is, thus a 

science, though not like the 

physical science. 

2. It is social science. 

(A)   Only 1 

(B) Only 2 

(C) Both 

(D) None of these 

 40. bu nksuksa esa ls dkSu lk dFku lgh gS \ 

1. jktuhfr foKku ,d izdkj ,d foKku 

gS] gkykafd HkkSfrd foKku dh rjg 

ughaA 

2. ;g ,d lkekftd foKku gSA 

(A) dsoy 1 

(B) dsoy 2 

(C) nksuksa 

(D) buesa ls dksbZ ugha 

41. “Political Science be described as 

the study of authoritative 

allocation of values for society” 

who said this? 

(A)   Aristotle 

(B) Hobbes 

(C) Lasswell 

(D) David Easton 

 41. Þjktuhfr foKku dks lekt ds fy, ewY;ksa ds 

vkf/kdkfjd vkoaVu ds v/;;u ds :i esa 

of.kZr fd;k tk ldrk gSß ;g fdlus dgk 

Fkk \ 

(A) vjLrw 

(B) gkWCl 

(C) ykWlosy 

(D) MsfoM bZLVu 

42. Who among these are considered 

as modern political theorists? 

(A)   David Easton 

(B) Almond Powell 

(C) George Catlin 

(D) All the above 

 42. buesa ls fdls vk/kqfud jktuhfrd 

fl)kUrdkj ekuk tkrk gS \ 

(A) MsfoM bZLVu 

(B) vkyeaM ikWosy 

(C) tkWtZ dSVfyu 

(D) mijksDr lHkh 
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43. Which one of the following is the 

most accepted theory of the origin 

of state? 

(A)   Social contract theory 

(B) Divine origin theory 

(C) Force Theory 

(D) Evolutionary theory 

 43. fuEufyf[kr esa ls dkSu jkT; dh mRifRRk dk 

lokZf/kd LohÑr fl)kUr gS \ 

(A) lkekftd vuqca/k fl)kUr 

(B) nSoh; mRifRRk fl)kUr 

(C) cy fl)kUr 

(D) fodkloknh fl)kUr 

44. According to the Marxists : 

(A)   The state is a welfare 

institution 

(B) The state is a class structure 

(C) The state is an instrument of 

public good 

(D) None of the above 

 44. ekDlZokfn;ksa ds vuqlkj % 

(A) jkT; ,d dY;k.kdkjh laLFkk gS 

(B) jkT; ,d oxZ lajpuk gS 

(C) jkT; turk dh HkykbZ dk ,d lk/ku 

gS 

(D) mijksDr esa ls dksbZ ugha 

45. Political Science is a discipline 

that is concerned with the study 

of? 

(A)   State 

(B) Nation 

(C) Government 

(D) All the above 

 45. jktuhfr foKku ,d ,slk fo”k; gS tks 

fdlds v/;;u ls lEcaf/kr gS \ 

(A) jkT; 

(B) jk”Vª 

(C) ljdkj 

(D) mijksDr lHkh 

46. Who wrote the book ‘A Grammar 

of Politics’? 

(A)   Laski 

(B) Hegel 

(C) J. S. Mill 

(D) T. H. Green 

 46. ^, xzkej vkWQ ikWfyfVDl^ iqLrd fdlus 

fy[kh gS \ 

(A) ykLdh 

(B) gsxsy 

(C) tsŒ,lŒ fey 

(D) VhŒ,pŒ xzhu 



Series-D B.A. LL.B – 101/ 671 Page - 16 

47. Political Science is integrated with 

other Social Science is a 

fundamental principle of? 

(A)   Traditionalism 

(B) Behaviouralism 

(C) Liberalism 

(D) Post-Behaviouralism 

 47. jktuhfr foKku dk vU; lkekftd foKkuksa ds 

lkFk ,dhdj.k fdldk ewyHkwr fl)kUr gS \ 

(A) ijEijkokn 

(B) O;ogkjokn 

(C) mnkjokn 

(D) mRrj&O;ogkjokn 

48. What is the meaning of Polis? 

(A)   Nation-state 

(B) Feudal State 

(C) City-state 

(D) None of the above 

 48. iksfyl dk D;k vFkZ gS \ 

(A) jk”Vª&jkT; 

(B) lkearh jkT; 

(C) uxj&jkT; 

(D) mijksDr esa ls dksbZ ugha 

49. Political science cannot be a true 

science because of : 

(A)   No uniformity 

(B) No cause and effect 

(C) No experimentation 

(D) All the above 

 49. jktuhfr foKku ,d lPpk foKku ugha gks 

ldrk D;ksafd % 

(A) dksbZ ,d:irk ugha 

(B) dksbZ dkj.k vkSj izHkko ugha 

(C) dksbZ iz;ksx ugha 

(D) mijksDr lHkh 

50. Who among the following wrote, 

“Political Science begins and ends 

with the state”? 

(A)   Gettel 

(B) Garner 

(C) Garris 

(D) Leacock 

 50. fuEufyf[kr esa ls fdlus fy[kk] Þjktuhfr 

foKku jkT; ds lkFk ‘kq: vkSj lekIr gksrk 

gSß \ 

(A) xsVsy 

(B) xkuZj 

(C) xSfjl 

(D) yhdkWd 
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51. The four factors which helped in 
the evolution of the state were. 
(A)   Population, Religion, 

Government and Force 
(B) Population, Territory, 

Government 
(C) Kinship, Religion, Force and 

Political Consciousness 
(D) Religion, Force, Territory and 

Government 

 51. jkT; ds fodkl esa lgk;d pkj dkjd FksA 
(A) tula[;k] /keZ] ljdkj vkSj cy 
(B) tula[;k] {ks=] ljdkj 
(C) jDrlEca/k] /keZ] cy vkSj jktuhfrd 

psruk 
(D) /keZ] cy] {ks= vkSj ljdkj 

52. The growth of the Cabinet System 
is based on: 
(A)   Constitution 
(B) Convention 
(C) Judicial Decision 
(D) Formal Amendments 

 52. dSfcusV iz.kkyh dk fodkl bl ij vk/kkfjr 
gS % 
(A) lafo/kku 
(B) ijEijk,¡ 
(C) U;kf;d fu.kZ; 
(D) vkSipkfjd la’kks/ku 

53. Indian Council’s Act, 1909 is 
commonly known as. 
(A)   Morley-Minto Reforms 
(B) Montague-Chelmsford 

Reforms 
(C) Act of Dyarchy 
(D) Act of Provincial Autonomy 

 53. Hkkjrh; ifj”kn vf/kfu;e] 1909 dks 
lkekU;r% bl uke esa tkuk tkrk gSA 
(A) ekWyZs&feaVks lq/kkj 
(B) ekaasVsX;w&psElQksMZ lq/kkj 
(C) }S/k ‘kklu dk vf/kfu;e 
(D) izkarh; Lok;RRkrk dk vf/kfu;e 

54. Which one of the following is not 
correct? 
(A)   A constitution described the 

structure and organization of 
the government 

(B) A constitution may be 
deliberate creation or result 
of gradual evolution 

(C) A ConstitutionMust be 
written 

(D) A Constitution must specify 
the rights of the people 

 54. fuEufyf[kr esa ls dkSu lk lgh ugha gS \ 

(A) lafo/kku ljdkj dh lajpuk vkSj 

laxBu dk o.kZu djrk gS 

(B) lafo/kku tkucw>dj fuekZ.k ;k Øfed 

fodkl dk ifj.kke gks ldrk gS 

(C) fo/kku fy[kk tkuk pkfg, 

(D) lafo/kku esa yksxksa ds vf/kdkjksa dks 

fufnZ”V fd;k tkuk pkfg, 
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55. In the U.S.A., the President 

performs only. 

(A)   Legislative functions 

(B) Executive functions 

(C) Judicial functions 

(D) All the functions combined 

together 

 55. ;wŒ,lŒ,Œ esa jk”Vªifr dsoy ------------------ dk;Z 

djrk gSA 

(A) fo/kk;h dk;Z 

(B) dk;Zdkjh dk;Z 

(C) U;kf;d dk;Z 

(D) lHkh dk;Z ,d lkFk la;qDr 

56. For sound public opinion it is 

essential that : 

(A)   Press should be free 

(B) Religious bodies should be 

active 

(C) People should be given the 

right to property 

(D) There should be a right to 

education 

 56. LoLFk tuer ds fy, ;g vko’;d gS fd % 

(A) izsl Lora= gksuk pkfg, 

(B) /kkfeZd fudk; lfØ; gksus pkfg, 

(C) yksxksa dks lEifRr dk vf/kdkj fn;k 

tkuk pkfg, 

(D) f’k{kk dk vf/kdkj gksuk pkfg, 

57. The Indian Parliament is. 

(A)   Not a sovereign parliament 

like British Parliament 

(B) A sovereign parliament like 

British Parliament 

(C) Sovereign parliament like 

U.S. parliament 

(D) None of these 

 57. Hkkjrh; laln --------------- gSA 

(A) fczfV’k laln dh rjg ,d laizHkq 

laln ugha 

(B) fczfV’k laln dh rjg ,d laizHkq 

laln 

(C) vesfjdh laln dh rjg laizHkq laln 

(D) buesa ls dksbZ ugha 
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58. Which of the following is not true 

about the state and society? 

(A)   State does not have all 

aspects of life but society 

does 

(B) Society came prior to state 

(C) Both have no territorial 

jurisdictions 

(D) State has sovereignty whereas 

society does not possess it 

 58. fuEufyf[kr esa ls jkT; vkSj lekt ds ckjs 

D;k lR; ugha gS \ 

(A) jkT; esa thou ds lHkh igyw ugha gksrs 

ysfdu lekt esa gksrs gS 

(B) lekt jkT; ls igys vk;k Fkk 

(C) nksukas dk dksbZ {ks=h; vf/kdkj ugha gS 

(D) jkT; dh laizHkqrk gS tcfd lekt ds 

ikl ugha gS 

59. The Area of Lok Sabha and 

Vidhan Sabha constituency for 

elections is determined by the? 

(A)   Delimitation Commission 

(B) Election Commission 

(C) Census Commission 

(D) President 

 59. pquko ds fy, yksdlHkk vkSj fo/kkulHkk {ks= 

dk {ks=Qy fdlds }kjk fu/kkZfjr fd;k tkrk 

gS \ 

(A) ifjlheu vk;ksx 

(B) pquko vk;ksx 

(C) tux.kuk vk;qDr 

(D) jk”Vªifr 

60. The idea of Lokpal is taken from. 

(A)   France 

(B) America 

(C) Britain 

(D) Scandinavian Countries 

 60. yksdiky dk fopkj ---------------- ls fy;k x;k 

gSA 

(A) Ýkal 

(B) vesfjdk 

(C) fczVsu 

(D) LdSafMusfo;kbZ ns’k 
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61. The principle of judicial review 

was founded by? 

(A)   Chief Justice John Marshall 

(B) President Roosevelt 

(C) Attorney-General Gerald R. 

Ford 

(D) None of these 

 61. U;kf;d leh{kk ds fl)kUr dh LFkkiuk 

fdlds }kjk dh xbZ Fkh \ 

(A) eq[; U;k;k/kh’k tkWu ek’kZy 

(B) jk”Vªifr :tosYV 

(C) vVkWuh&tujy xsjkYM vkjŒ QksMZ 

(D) buesa ls dksbZ ugha 

62. An unwritten constitution is a 

creation of? 

(A)   Parliament 

(B) Customs and usages 

(C) King 

(D) None of the above 

 62. ,d vfyf[kr lafo/kku fdl ds }kjk curk gS \ 

(A) laln 

(B) jhfr fjokt+ ,oa ijEijk,¡ 

(C) jktk 

(D) mijksDr esa ls dksbZ ugha 

63. The Executive in Presidential form 

of government is powerful because 

______. 

(A)   The Legislature is weak 

(B) Judges are appointed by the 

President 

(C) It enjoys the fixity of tenure 

(D) The procedure of 

impeachment is cumbersome 

 63. ljdkj ds v/;{kkRed Lo:i esa dk;Zikfydk 

‘kfDr’kkyh gksrh gS D;ksafd -------------------- 

(A) fo/kkf;dk detksj gS 

(B) U;k;k/kh’kkas dh fu;qfDr jk”Vªifr }kjk 

dh tkrh gS 

(C) ;g dk;Zdky dh fLFkjrk dk vkuan 

ysrk gS 

(D) egkfHk;ksx dh izfØ;k cksf>y gS 
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64. The Concept of Public Interest 

Litigation originated in . 

(A)   The United Kingdom 

(B) Australia 

(C) The United States 

(D) Canada 

 64. tufgr ;kfpdk dh vo/kkj.kk ------------- esa 

‘kq: gqbZA 

(A) ;wukbVsM fdaxMe 

(B) vkWLVsªfy;k 

(C) la;qDRk jkT; vesfjdk 

(D) dukMk 
65. The number of subjects in the 

union list_________. 

(A)   47 

(B) 66 

(C) 97 

(D) 100 

 65. la?k lwph esa fo”k;ksa dh la[;k---------------------- gSA 

(A)   47 

(B) 66 

(C) 97 

(D) 100 

66. Who believed that sovereignty 

extended to all individuals and 

associations living in the state? 

(A)   St. Augustine 

(B) Aristotle 

(C) Bodin 

(D) Rousseau 

 66. dkSu ekurk Fkk fd laizHkqrk jkT; esa jgus 

okys lHkh O;fDr;ksa vkSj la?kksa ij ykxw gksrh 

gS \ 

(A) lsaV vkWxLVhu 

(B) vjLrw 

(C) cksfMu 

(D) :lks 
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67. The phrase ‘bicameral legislature’ 

means. 

(A)   An elected legislature 

(B) A legislature consisting of a 

lower and an upper chamber 

(C) Parliamentary system of 

government 

(D) A single assembly 

 67. ^f}lnuh; fo/kkf;dk^ dk vFkZ gSA 

(A) ,d fuokZfpr fo/kkf;dk 

(B) ,d fo/kkf;dk ftlesa ,d fupyk vkSj 

,d Åijh d{k gksrk gs 

(C) ljdkj dh lalnh; iz.kkyh 

(D) ,d ,dy fo/kkulHkk 

68. Which of these two statements is 

true? 

1. Indian federation is not the 

result of the agreement 

between the units of which it 

is made. 

2. India was already a union 

during constituent assembly 

debates. 

(A)   Only 1 

(B) Only 2 

(C) Both 1 & 2 

(D) None of the two 

 68. bu nksuksa esa ls dkSu lk dFku lR; gS \ 

1. Hkkjrh; la?k mu bdkb;ksa ds chp gq, 

le>kSrs dk ifj.kke ugha gS] ftuls 

og cuk gSA 

2. lafo/kku lHkk dh cgl ds nkSjku Hkkjr 

igys ls gh ,d la?k FkkA 

(A) dsoy 1 

(B) dsoy 2 

(C) 1 vkSj 2 nksukas 

(D) nksuksa esa ls dksbZ ugha 

69. The Election Commission is 

established under which article? 

(A)   Article 355 

(B) Article 320 

(C) Article 324 

(D) None of the above 

 69. pquko vk;ksx dh LFkkiuk fdl vuqPNsn ds 

rgr dh tkrh gS \ 

(A)   vuqPNsn 355 

(B) vuqPNsn 320 

(C) vuqPNsn 324 

(D) mijksDr esa ls dksbZ ugha 
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70. Which of the following 

judgements stated that 

“federalism” and ‘secularism” are 

the basic features of the Indian 

constitution? 

(A)   Keshavanand Bharti Case 

(B) S.R. Bommai Case 

(C) Minerva Mills Case 

(D) None of the above 

 70. fuEufyf[kr esa ls fdl fu.kZ; esa dgk x;k 

gS fd Þla?koknß vkSj Þ/keZfujis{krkß Hkkjrh; 

lafo/kku dh ewy fo’ks”krk,a gSa \ 

(A) ds’kokuan Hkkjrh dsl 

(B) ,lŒvkjŒ cksEebZ dsl 

(C) feuokZ feYl dsl 

(D) mijksDr esa ls dksbZ ugha 

71. The concept of political 

sovereignty was advocated? 

(A)   Austin 

(B) Locke 

(C) Rousseau 

(D) J.S. Mill 

 71. jktuhfrd laizHkqrk dh vo/kkj.kk dh odkyr 

fdlus dh Fkh \ 

(A) vkWfLVu 

(B) yksds 

(C) :lks 

(D) tsŒ,lŒ fey 

72. The method of impeachment of 

President in India is adopted from? 

(A)   U.K. 

(B) U.S.A. 

(C) Canada 

(D) Australia 

 72. Hkkjr esa jk”Vªifr ij egkfHk;ksx fdl ns’k 

dh i)fr ls yh xbZ gS \ 

(A) ;wŒ dsŒ 

(B) ;wŒ,lŒ,Œ 

(C) dukMk 

(D) vkWLVsªfy;k 

73. The term fourth estate is used for? 

(A)   Executive 

(B) Judiciary 

(C) Press/Media 

(D) None of the above 

 73. pkSFkk LrEHk ‘kCn dk iz;ksx fdl ds fy, 

fd;k tkrk gS \ 

(A) dk;Zdkjh 

(B) U;k;ikfydk 

(C) izsl@ehfM;k 

(D) mijksDRk esa ls dksbZ ugha 
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74. Freedom of the press is implied in. 

(A)   Freedom of speech 

(B) Freedom of expression 

(C) Freedom of association 

(D) None of the above 

 74. izsl dh Lora=rk fdl esa fufgr gSA 

(A) cksyus dh Lora=rk 

(B) vfHkO;fDr dh Lora=rk 

(C) laxBu dh Lora=rk 

(D) mijksDRk esa ls dksbZ ugha 

75. The correct sequence of the 

following words in the Preamble is. 

(A)   Sovereign, Democratic, 

Socialist, Secular, Republic 

(B) Sovereign, Socialist, Secular, 

Democratic, Republic 

(C) Sovereign, Socialist, 

Democratic, Secular, 

Republic 

(D) None of these 

 75. izLrkouk esa fuEufyf[kr ‘kCnksa dk lgh Øe 

gSA 

(A) laizHkq] yksdrkaf=d] lektoknh] 

/keZfujis{k] x.kjkT; 

(B) laizHkq] lektoknh] /keZfujis{k] 

yksdrkaf=d] x.kjkT; 

(C) laizHkq] lektoknh] yksdrkaf=d] 

/keZfujis{k] x.kra= 

(D) buesa ls dksbZ ugha 

76. Which of the given Article of the 

Indian Constitution empowers the 

High court to issue writs? 

(A)   Article 226 

(B) Article 223 

(C) Article 229 

(D) Article 232 

 76. Hkkjrh; lafo/kku dk dkSu lk vuqPNsn mPp 

U;k;ky; dks fjV tkjh djus dk vf/kdkj 

nsrk gS \ 

(A)   vuqPNsn 226 

(B) vuqPNsn 223 

(C) vuqPNsn 229 

(D) vuqPNsn 232 
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77. What is the maximum number of 

judges of the Supreme Court of 

India, including the Chief Justice? 

(A)   20 

(B) 21 

(C) 26 

(D) 34 

 77. eq[; U;k;k/kh’k lfgr Hkkjr ds loksZPp 

U;k;ky; ds U;k;k/kh’kksa dh vf/kdre la[;k 

fdruh gS \ 

(A)   20 

(B) 21 

(C) 26 

(D) 34 

78. Which among these is not an 

element of public relations? 

(A)   One-way communication 

(B) Mutual Understanding 

(C) Caring for public opinion 

(D) Social Responsibility 

 78. buesa ls dkSu tulEidZ dk rRo ugha gS \ 

(A) ,drjQk lapkj 

(B) vkilh le> 

(C) tuer dh ns[kHkky 

(D) lkekftd mRrjnkf;Ro 

79. Public relations mean : 

(A)   A planned effort or 

management function 

(B) The relationship between an 

organization and its publics 

(C) Evaluation of public attitudes 

and opinions 

(D) All the above 

 79. tulaidZ dk eryc % 

(A) ,d fu;ksftr iz;kl ;k izca/ku dk;Z 

(B) ,d laxBu vkSj mlds turk ds chp 

laca/k 

(C) lkoZtfud nf̀”Vdks.k vkSj jk; dk 

ewY;kadu 

(D) mijksDRk lHkh 
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80. Which among the following is 

included in the function of media? 

(A)   Media as a gatekeeper 

(B) Media as a watchdog 

(C) Media does not help in 

socializing 

(D) Both A and B 

 80. fuEufyf[kr esa ls dkSu ehfM;k ds dk;Z esa 

‘kkfey gS \ 

(A) ,d }kjiky ds :i esa  ehfM;k 

(B) ,d izgjh ds :i eas ehfM;k 

(C) ehfM;k lkekftddj.k esa enn ugha 

djrk gS 

(D) (A)vkSj (B)nksuks 

81. The single transferable vote 

system requires________. 

(A)   Single-member constituency 

(B) Multi-member constituency 

(C) Neither single nor multi-

member 

(D) Both single and multi-

member 

 81. ,dy laØe.kh; er iz.kkyh dh vko’;drk 

------------------------ gSA 

(A) ,dy lnL;h; fuokZpu {ks= 

(B) cgq&lnL;h; fuokZpu {ks= 

(C) u rks ,dy vkSj u gh cgq&lnL; 

(D) ,dy vkSj cgq&lnL; nksuksa 

82. “Law is the command of a 

determinate human superior,” 

whose words? 

(A)   Bentham 

(B) Grotius 

(C) Austin 

(D) James Mill 

 82. Þdkuwu ,d fuf’pr ekuo Js”B dk vkns’k 

gS]ß fdlds ‘kCn gSa \ 

(A) csaFke 

(B) xzksfV;l 

(C) vkWfLVu 

(D) tsEl fey 

83. In India, sovereignty is vested in. 

(A)   Constitution 

(B) Government 

(C) People 

(D) Prime Minister 

 83. Hkkjr esa] ----------------------------- esa laizHkqrk gSA 

(A) lafo/kku 

(B) ljdkj 

(C) turk 

(D) iz/kku ea=h 
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84. Which of the following is not an 

essential element of association? 

(A)   Optional membership 

(B) Definite and common 

purpose 

(C) Definite territory 

(D) None of the above 

 84. fuEufyf[kr esa ls dkSu lk laxBu dk ,d 

vfuok;Z rRo ugha gS \ 

(A) oSdfYid lnL;rk 

(B) fuf’pr vkSj lkekU; mís’; 

(C) fuf’pr {ks= 

(D) mijksDr esa ls dksbZ ugha 

85. “The Indian Constitution is neither 

purely federal nor unitary but a 

combination of both,” who said 

this? 

(A)   Jennings 

(B) D.D. Basu 

(C) Ambedkar 

(D) None of the above 

 85. ÞHkkjrh; lafo/kku u rks fo’kq) :Ik ls la?kh; 

gS vkSj u gh ,dkRed cfYd nksuksa dk ,d 

la;kstu gS]ß ;g fdlus dgk Fkk \ 

(A) tsfuaXl 

(B) MhŒMhŒclq 

(C) vEcsMdj 

(D) mijksDRk esa ls dksbZ ugha 

86. In India, the power of judicial 

review is enjoyed by? 

(A)   The supreme Court alone 

(B) The Supreme Court as well as 

High Courts 

(C) All the courts 

(D) None of these 

 86. Hkkjr esa U;kf;d iqujkoyksdu dh ‘kfDr 

fdlds ikl gksrh gS \ 

(A) vdsys lqizhe dksVZ 

(B) loksZPp U;k;ky; vkSj lkFk gh mPp 

U;k;ky; 

(C) lHkh vnkyrsa 

(D) buesa ls dksbZ ugha 
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87. In case of a clash between the 

State and Union Law on a subject 

in the concurrent list ______. 

(A)   The state law prevails 

(B) The Union Law prevails 

(C) Both laws annulled 

(D) None of the above 

 87. leorhZ lwph esa fdlh fo”k; ij jkT; vkSj 

la?k ds dkuwu ds chp Vdjko dh fLFkfr esa -

-------------------------A 

(A) jkT; dk dkuwu izcy gksrk gS 

(B) dsUnzh; dkuwu izcy gksrk gS 

(C) nksuksa dkuwu jí 

(D) mijksDr esa ls dksbZ ugha 

88. A constitution is known as flexible : 

(A)   If it can be amended by the 

ordinary lawmaking 

procedure  

(B) It the states alone can amend 

the constitution 

(C) If the procedure for the 

amendment of constitution is 

simple than the ordinary 

lawmaking procedure 

(D) If it is difficult to amend 

 88. og lafo/kku dks yphyk ekuk tkrk gS tks % 

(A) tgk¡ lkekU; dkuwu cukus dh izfØ;k 

}kjk la’kksf/kr fd;k tk ldrk gS 

(B) tgk¡ vdsys jkT; lafo/kku esa la’kks/ku 

dj ldrs gSa 

(C) tgk¡ lafo/kku esa la’kks/ku dh izfØ;k 

lkekU; dkuwu cukus dh izfØ;k dh 

rqyuk esa ljy gS 

(D) tgk¡ la’kks/ku djuk dfBu gS 

89. Judicial Review is a feature of? 

(A)   Parliamentary Government  

(B) Presidential Government 

(C) Unitary Government 

(D) Federal Government 

 89. U;kf;d leh{kk fdldh fo’ks”krk gS \ 

(A) lalnh; ljdkj 

(B) v/;{kkRed ljdkj 

(C) ,dkRed ljdkj 

(D) la?kh; ljdkj 
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90. The Presidential government 

operates on the principle of : 

(A)   Separation of powers 

(B) Division of powers 

(C) Fusion of powers 

(D) Centralization 

 90. v/;{kkRed ljdkj fdl fl)kUr ij dk;Z 

djrh gS \ 

(A) ‘kfDr;kasa dk ìFkDdj.k 

(B) ‘kfDr;ksa dk foHkktu 

(C) ‘kfDr;ksa dk foy; 

(D) ‘kfDr;ksa dk dsUnzhdj.k 

91. In India, there is : 

(A)   Single Judiciary system 

(B) Double judiciary system 

(C) Multi-Judiciary system 

(D) None of these 

 91. Hkkjr esa ---------------------- gS % 

(A) ,dy U;k;ikfydk iz.kkyh 

(B) nksgjh U;k;ikfydk iz.kkyh 

(C) cgq& U;k;ikfydk iz.kkyh 

(D) buesa ls dksbZ ugha 

92. The cabinet under parliamentary 

government is accountable to? 

(A)   The president 

(B) The Prime minister 

(C) The Legislature 

(D) None of the above 

 92. lalnh; ljdkj ds v/khu dSfcusV fdlds 

izfr tokcnsg gS \ 

(A) jk”Vªifr 

(B) iz/kku ea=h 

(C) fo/kkue.My 

(D) mijksDr esa ls dksbZ ugha 

93. Parliamentary government is more 

democratic because : 

(A)   The judiciary is independent 

(B) The government is directly 

elected 

(C) The government can be 

replaced if it ignores public 

welfare 

(D) None of the above 

 93. lalnh; ljdkj vf/kd yksdrkaf=d gS D;ksafd % 

(A) U;k;ikfydk Lora= gS 

(B) ljdkj lh/ks pquh tkrh gS 

(C) ljdkj dks cnyk tk ldrk gS ;fn 

og yksd dY;k.k dh mis{kk djrh gS 

(D) mijksDr esa ls dksbZ ugha 
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94. Conventions and customs play a 

more prominent role in a country 

with? 

(A)   An unwritten constitution 

(B) A written constitution 

(C) No constitution 

(D) None of the above 

 94. fdl izdkj ds ns’k esa ijEijk,a vkSj 

jhfr&fjokt izeq[k Hkwfedk fuHkkrs gSa \ 

(A) ,d vfyf[kr lafo/kku 

(B) ,d fyf[kr lafo/kku 

(C) dksbZ lafo/kku ugha 

(D) mijksDRk esa ls dksbZ ugha 

95. Which one of the following 

hinders the formation of sound 

public opinion? 

(A)   Free Press 

(B) Illiteracy 

(C) Political Parties 

(D) None of the above 

 95. fuEufyf[kr esa ls dkSu l{ke tuer ds 

fuekZ.k esa ck/kd gS \ 

(A) Ýh izsl 

(B) fuj{kjrk 

(C) jktuhfrd ny 

(D) mijksDr esa ls dksbZ ugha 

96. Which of the following is not the 

agency of public opinion? 

(A)   Press 

(B) Judiciary 

(C) Political parties 

(D) Private organizations 

 96. fuEufyf[kr eas ls dkSu tuer dh ,tsalh 

ugha gS \ 

(A) izsl 

(B) U;k;ikfydk 

(C) jktuhfrd ny 

(D) futh laXkBu 
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97. Who said. “Public Opinion is a 

social product due to the 

interaction of many minds. 

(A)   Ginsberg 

(B) Locke 

(C) Engels 

(D) None of the above 

 97. fdlus dgk] Þyksd er dbZ fnekxksa dh 

ijLij izfØ;k ls mitk ,d lkekftd 

mRikn gSAß 

(A) ftULcsxZ 

(B) ykWd 

(C) ,axsYl 

(D) mijksDRk esa ls dksbZ ugha 
98. Minority Representation 

requires_________. 

(A)   Single-member constituency 

(B) Multi-member constituency 

(C) Bi-member constituency 

(D) None of the above 

 98. vYila[;d izfrfuf/kRo ds fy, ------------------ 

vko’;d gSA 

(A) ,dy lnL;h; fuokZpu {ks= 

(B) cgq&lnL;h; fuokZpu {ks= 

(C) n~fo&lnL;h; fuokZpu {ks= 

(D) mijksDRk esa ls dksbZ ugha 

99. Who said, “Authority is federal.” 

(A)   Austin 

(B) Laski 

(C) Cole 

(D) Leacock 

 99. fdlus dgk] ÞlRrk la?kh; gSAß 

(A) vkWfLVu 

(B) ykLdh 

(C) dksy 

(D) yhdkWd 

100. In Britain, the legal sovereignty 
resides in. 
(A)   The Queen in Parliament 
(B) The Queen 
(C) The House of Commons 
(D) The House of Lords 

 100. fczVsu esa] dkuwuh laizHkqrk ---------------------- esa 

fuokl djrh gSA 

(A) laln dh jkuh 

(B) jkuh 

(C) gkml vkWQ+ dkWeu 

(D) gkbl vkWQ dkWM~Zl 

****** 
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